

$$\begin{aligned}
 & \vdots \\
 & a_1x_1 + a_2x_2 + \dots + a_nx_n = b \\
 & \qquad \qquad \qquad n \qquad \qquad m \\
 & a_{11}x_1 \quad | \quad a_{12}x_2 \quad \dots \quad | \quad a_{1n}x_n = b_1 \\
 & a_{21}x_1 \quad + a_{22}x_2 \quad \dots \quad + a_{2n}x_n = b_2 \\
 & \dots \quad \dots \quad \dots \quad \dots \quad \dots \\
 & a_{m1}x_1 \quad + a_{m2}x_2 \quad \dots \quad + a_{mn}x_n = b_m \\
 & \vdots \\
 & Ax = b \\
 & A = \begin{pmatrix} a_{11} & a_{12} & \dots & a_{1n} \\ a_{21} & a_{22} & \dots & a_{2n} \\ \dots & \dots & \dots & \dots \\ a_{m1} & a_{m2} & \dots & a_{mn} \end{pmatrix} x = \begin{pmatrix} x_1 \\ x_2 \\ \vdots \\ x_n \end{pmatrix} b = \begin{pmatrix} b_1 \\ b_2 \\ \vdots \\ b_m \end{pmatrix} \\
 \text{a} \quad & \text{(a)}_{ij} \qquad \qquad \qquad n \quad m \qquad \qquad \qquad n \qquad m \qquad \qquad \qquad (j) \qquad \qquad \qquad (i)
 \end{aligned}$$

مثال:

$$\begin{pmatrix} 4X_1 + 5X_2 + 3X_3 = 46 \\ 5X_1 + X_2 + 2X_3 = 26 \\ 3X_1 + 2X_2 + X_3 = 20 \end{pmatrix} = \begin{pmatrix} 4 & 5 & 3 \\ 5 & 1 & 2 \\ 3 & 2 & 1 \end{pmatrix} \cdot \begin{pmatrix} X_1 \\ X_2 \\ X_3 \end{pmatrix} = \begin{pmatrix} 46 \\ 26 \\ 20 \end{pmatrix}$$

Cramer

$$\begin{aligned}
 & \vdots \\
 & (2) \qquad \qquad \qquad : \\
 & 5X_1 + X_2 + 3X_3 = 26 \Rightarrow X_2 = 26 - 5X_1 - 2X_3 \dots \dots \dots (4) \\
 & \qquad \qquad \qquad : \qquad \qquad (1) \qquad \qquad (4) \qquad \qquad (X_2) \\
 & 4X_1 + 5X_2 + 3X_3 = 46 \Rightarrow 4X_1 + 5(26 - 5X_1 - 2X_3) + 3X_3 = 46 \\
 & 4X_1 + 130 - 25X_1 - 10X_3 + 3X_3 = 46 \Rightarrow -21X_1 - 7X_3 = -84 \\
 & \qquad \qquad \qquad : \qquad \qquad (-3) \\
 & 3X_1 + X_3 = 12 \dots \dots \dots (5) \\
 & \qquad \qquad \qquad : \qquad \qquad (3) \qquad \qquad (4) \qquad \qquad (X_2) \\
 & 3X_1 + 2X_2 + X_3 = 20 \Rightarrow 3X_1 + 2(26 - 5X_1 - 2X_3) + X_3 = 20 \\
 & 3X_1 + 52 - 10X_1 - 4X_3 + X_3 = 20 \Rightarrow -7X_1 - 3X_3 = -32 \\
 & \qquad \qquad \qquad : \qquad \qquad (-1) \\
 & 7X_1 + 3X_3 = 32 \dots \dots \dots (6)
 \end{aligned}$$

$$(X_3) \quad (5)$$

$$3X_1 + X_3 = 12 \Rightarrow X_3 = 12 - 3X_1 \dots \dots \dots (7)$$

$$(6) \quad (X_3)$$

$$7X_1 + 3(12 - 3X_1) = 32 \Rightarrow 7X_1 + 36 - 9X_1 = 32 \Rightarrow -2X_1 = -4 \Rightarrow X_1 = 2$$

$$(7) \quad (X_1)$$

$$X_3 = 12 - 3X_1 \Rightarrow X_3 = 12 - 3(2) \Rightarrow X_3 = 6$$

$$(X_2) \quad (4)$$

$$X_2 = 26 - 5X_1 - 2X_3 \Rightarrow X_2 = 26 - 5(2) - 2(6) \Rightarrow X_2 = 4$$

$$\begin{pmatrix} X_1 \\ X_2 \\ X_3 \end{pmatrix} = \begin{pmatrix} 2 \\ 4 \\ 6 \end{pmatrix}$$

$$: \quad Ax = b$$

$$A = \begin{pmatrix} 4 & 5 & 3 \\ 5 & 1 & 2 \\ 3 & 2 & 1 \end{pmatrix} \mapsto X = \begin{pmatrix} X_1 \\ X_2 \\ X_3 \end{pmatrix} \mapsto B = \begin{pmatrix} 46 \\ 26 \\ 20 \end{pmatrix}$$

$$: \quad A^{-1}$$

$$\text{Det } A = 4(1 \cdot 4) - 5(5 \cdot 6) + 3(10 - 3) \Rightarrow \text{Det } A = 4(-3) - 5(-1) + 3(7) \Rightarrow \text{Det } A = -12 + 5 + 21$$

$$\text{Det } A = 14$$

$$A = \begin{vmatrix} 4 & 5 & 3 \\ 5 & 1 & 2 \\ 3 & 2 & 1 \end{vmatrix} = \begin{vmatrix} X_1 \\ X_2 \\ X_3 \end{vmatrix} = \begin{vmatrix} 46 \\ 26 \\ 20 \end{vmatrix}$$

$$A = \begin{vmatrix} (-3) & -(-1) & (7) \\ -(-1) & (-5) & -(-7) \\ (7) & -(-7) & (-21) \end{vmatrix}$$

$$A' = \begin{vmatrix} -3 & 1 & 7 \\ 1 & -5 & 7 \\ 7 & 7 & -21 \end{vmatrix}$$

$$A^{-1} = \frac{1}{14} \begin{vmatrix} -3 & 1 & 7 \\ 1 & -5 & 7 \\ 7 & 7 & -21 \end{vmatrix} = \begin{vmatrix} -3/14 & 1/14 & 7/14 \\ 1/14 & -5/14 & 7/14 \\ 7/14 & 7/14 & -21/14 \end{vmatrix}$$

$$\mathbf{X} = \mathbf{A}^{-1} \cdot \mathbf{B} \begin{vmatrix} -3/14 & 1/14 & 7/14 \\ 1/14 & -5/14 & 7/14 \\ 7/14 & 7/14 & -21/14 \end{vmatrix} \cdot \begin{vmatrix} 46 \\ 26 \\ 20 \end{vmatrix}$$

$$\mathbf{X} = \mathbf{A}^{-1} \cdot \mathbf{B} \begin{vmatrix} -3(46)/14 + (26)/14 + 7(20)/14 \\ 1(46)/14 - 5(26)/14 + 7(20)/14 \\ 7(46)/14 + 7(26)/14 - 21(20)/14 \end{vmatrix} = \begin{vmatrix} 2 \\ 4 \\ 6 \end{vmatrix}$$

$$\mathbf{X} = \begin{vmatrix} X_1 \\ X_2 \\ X_3 \end{vmatrix} = \begin{vmatrix} 2 \\ 4 \\ 6 \end{vmatrix}$$

$X_1=2, \quad X_2=4, \quad X_3=6$:

Cramer

$$\Delta = \begin{vmatrix} a_{11} & a_{12} & \dots & a_{1n} \\ a_{21} & a_{22} & \dots & a_{2n} \\ \vdots & \vdots & \dots & \vdots \\ a_{n1} & a_{n2} & \dots & a_{nn} \end{vmatrix}, \quad \Delta_{x_1} = \begin{vmatrix} b_1 & a_{12} & \dots & a_{1n} \\ b_2 & a_{22} & \dots & a_{2n} \\ \vdots & \vdots & \dots & \vdots \\ b_n & a_{n2} & \dots & a_{nn} \end{vmatrix}, \quad \dots$$

$$x_1 = \frac{\Delta_{x_1}}{\Delta}, \quad x_2 = \frac{\Delta_{x_2}}{\Delta}, \quad \dots$$

$$\text{Det } A = 4(1 \cdot 4) - 5(5 \cdot 6) + 3(10 \cdot 3) \Rightarrow \text{Det } A = 4(-3) - 5(-1) + 3(7) \Rightarrow \text{Det } A = -12 + 5 + 21$$

$$\text{Det } A = 14$$

$$\text{Det } X_1 = \begin{vmatrix} 46 & 5 & 3 \\ 26 & 1 & 2 \\ 20 & 2 & 1 \end{vmatrix}$$

$$\text{Det } X_1 = 46(1 \cdot 4) - 5(26 \cdot 40) + 3(52 \cdot 20) \Rightarrow \text{Det } X_1 = 46(-3) - 5(-14) + 3(32)$$

$$\Rightarrow \text{Det } X_1 = -138 + 70 + 96 \Rightarrow \text{Det } X_1 = 28$$

$$X_1 = \frac{\text{Det } X_1}{\text{Det } A} = \frac{28}{14} = 2$$

$$\text{Det } X_2 = \begin{vmatrix} 4 & 46 & 3 \\ 5 & 26 & 2 \\ 3 & 20 & 1 \end{vmatrix}$$

$$\text{Det } X_2 = 4(26 \cdot 40) - 46(5 \cdot 6) + 3(100 \cdot 78) \Rightarrow \text{Det } X_2 = 4(-14) - 46(-1) + 3(22)$$

$$\Rightarrow \text{Det } X_2 = -56 + 46 + 66 \Rightarrow \text{Det } X_2 = 56$$

$$X_2 = \frac{\text{Det } X_2}{\text{Det } A} = \frac{56}{14} = 4$$

$$\text{Det } X_3 = \begin{vmatrix} 4 & 5 & 46 \\ 5 & 1 & 26 \\ 3 & 2 & 20 \end{vmatrix}$$

$$\text{Det } X_3 = 4(20-52) - 5(100-78) + 46(10-3) \Rightarrow \text{Det } X_3 = 4(-32) - 5(22) + 46(7)$$

$$\Rightarrow \text{Det } X_3 = -128 - 110 + 322 \Rightarrow \text{Det } X_3 = 84$$

$$X_3 = \frac{\text{Det } X_3}{\text{Det } A} = \frac{84}{14} = 6$$

$$X_1=2, \quad X_2=4, \quad X_3=6$$

تمرین

$$\begin{pmatrix} X = 3 - Y \\ 6X + Y + 2 = 0 \end{pmatrix} \quad \begin{pmatrix} Y + 4X = 2 \\ X - 2Y = 1 \end{pmatrix} \quad \begin{pmatrix} Y = X + 2 \\ 4X + 3 = Y \end{pmatrix}$$